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PART NO. | REV DESCRIPTION FROM/TO * tmx i [ m“x 2o
A SU CBORE / £ CBORE ACT - 6.35 - 6.40 0.05
B ¢ CBOREACT/L CBORETP € |+| 0.3 - 0.3 0.6
C BONUS[+| 00 -| o005 005
D 2 SHIFT |+ 0.4 = 0.4 0.8
E ¢ CBORE TP / £ D ACT +| 00 - 0.0 0.0
F ¢PDOACT/EPZDTP 4|+ 03 -] 03 0.6
G 3 BONUS |+ 0.1 5 0.1 0.2
H 4 SHIFT |+ 0.0 - 0.0 0.0
I CHDTP/CHDTP +| 600 +|  60.0 0.0
J ¢cFDTP/L DD ACT 4 |+ 0.3 - 0.3 0.6
K 3 ' BONUS |+ 0.1 - 0.1 0.2
L 4 SHIFT |+ 0.0 & 0.0 0.0
M QQ D ACT/ Q CBORE TP + 0.0 - 0.0 0.0
N ¢ CBORE TP/ L CBORE ACT Q} + 0.3 - 0.3 0.6
IO 1 BONUS [+ 0.0 - 0.05 0.05
P 2 SHIFT |+ 0.4 - 0.4 0.8
[@) ¢ CBORE ACT / SU CBORE - 6.35 - 6.40 0.05
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